Unit 2

24. In this drawing, line p is parallel to line j and line t is perpendicular to AB . What is the measure
of LBAC?
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25. Alejandra is playing pool. The path of the ball is shown in the diagram below.
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What is the measure of 217
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26. Do the equations of the following lines make them parallel, perpendicular, or neither?
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27. Write an equation of a line which passes through P(-2, 5) and is perpendicular to the line
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28. Given /|| m, find the values of x. Be sure to check for extraneous solutions. Diagram is not

drawn to scale. o ConseL - Nkevioy

a)  mZ3=(x*+112)°, m£8=(16x+131)°
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29. Given p||t, m£1=(12x—4y)°, m£8=(x—4y)°, and m£5=(15x+8y)°, find the values of x
and y, and the measure of each angle.
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30. Find the value of x so that n || m. State the theorem or postulate that justifies your solution.
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31. What values of x and y would make lines a and b parallel? - ; AV‘({)‘U
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32. Given: mZLNF =(3x—15)°, mZEFN =(2x+10)°, LN || EF. Please prove: x =37

(3x-15)° (2x +10)
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Statements Reasons
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33. Given: L1= /2, /1= /4 .Please prove x || y.

Statements Reasons

1. . 1 a b

N ERV] Given / /

< — >
2. allb 2. ALk Ink. AngleS (onverte / /
3. v 3. ‘ 3 ;
3%y Corresponding Ang. Theorem / /

4. 4\ vy 4. awven
5. 5.

2y Tranghve Prop
6. 6

" (orregponding Ang. Copuerte,




34. Please solve for x, y, and z. %144y 1 = 10 29423 = 2R+ 2
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